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1. AWK INDAUVDY — 7X + 15 ﬁ’JEJ bx -2
WY N (- Tx+15) - (5x = 2) = (= Tx + 15) + (- 5x + 2)
= —7Ix+15-5x+2
= (= 7x-5x)+(15+2)

= —12x+ 17

BLLLBBLLLLDLLLLLLLD

Ay - 12x + 17

2. WANAAUIBY TM + 3 A8 — 2m -5

A1 1 (Tm + 3) = (= 2m - 5) (Tm +3)+ (2m + 5)

m+3+2m+5

(Tm +2m) + (3 + 5)
= 9m + 8

Ay 9m + 8

3. QIMHAAUTDY 18X — X — 10 §78 — X = 3x + 1
3391 910 (18X —x=10) = (e X = 3x+ 1) = (18X —x—10) + (X + 3x - 1)

= 18X - Xx- 104X +3x—1

(18" + X ) + (= X + 3%) + (= 10 = 1)

19x° + 2% — 11

MOy 19X + 2x - 11
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4. PWAWARUYDY 9x —Xx -3 A8 — X — 2x

ad o
0N
2
9% - x - 3
2
-Xx - 2xXx + 0

1Ox2+ X - 3

MU 1O><2 +x-3

2 1% 2
L AAMWAAUVDY 3x + 11x -8 Ay — 7x — 17

359
3><2 + 11x - 8
S+ 0x - 17
10 + 11x + 9

Moy 10x + 11x + 9

2 1Y 2
L WHNAAUVDY 29x — 9 Ay —Bx — 7Tx + 3

359
29¢ + Ox - 9
—5><2 - Ix + 3

34X + Tx - 12

MU 30X + Tx — 12
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